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A 134 R ~ 2 Bq/L
BT L13T: ARt ~ 3 Bq/L
(% YU A134: RHH ~ 1 Bg/L)
(% B A137: R ~ 2 Bq/L)
(YR - KPR )
A 134 R ~ 2 Bq/L
B A 137 AR ~ 3 Bg/L
(%% UL 134, UL 137 AR ~ 1 Bq/L)
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(2) EE (B TRRAE: 10Bq/ kg(RzIE))
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T A 134 AR ~ 24,000 Bq/ keg(RZIE)
T A 137 A ~ 37,000 Bq/ kg(BZIE)
(% BVUL134: AR ~ 65,000 Ba/ keg(FziE))
(% BIUAI137: R ~ 100,000 Ba/ kg(H27E))
(W18 « K )
T A 134 AR ~ 35,000 Bq/ keg(RZIE)
T 137 R ~ 61,000 Bg/ kg(#2IE)
(3% BUUA134: AR ~ 110,000 Bq/ ke(FziE))
(%% BT A 137: 17 ~ 150,000 Bq/ kg(HZIE))
(R )
t A 134: 15 ~ 230 Bg/ kg(#ZIR)
YL A 137: 23 ~ 360 Bg/ kg(H#:TE)
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B A 134 R ~ 31,000 Bq/ kg(¥z)
BV L 13T A ~ 51,000 Bg/ kg(Fz)
(% B UL 134: R ~ 44,000 Ba/ kg(#2))
(% BIDULI37T: AHEH ~ 69,000 Ba/ kg(Fz))
ZeffRE: 0.06 ~ 11.90u Sv/h
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T4 134: 12 ~ 47,000 Bq/ kg(#7)
T 137: 22 ~ 74,000 Bq/ kg(#z)
(%3¢ B 134: 130 ~ 88,000 Bq/ kg(Hz))
(%% BT A137: 160 ~ 120,000 Bg/ kg(#Z))
ZefifRE: 0.06 ~ 18.54u Sv/h
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26/ ge )| ELE 65 frra K BEHT 7H508 3 = = — = —| =B <42] 12,000 19,000 493
27 ﬁ%‘:ﬁ ;] A58 5;_5 J#%i — — — — Eé <44] 10,000 16,000 11.90
28 maEtE ] 8H30H & 3 <30 1,200 1,900 0.64 <30 3,100 5,000 0.94 | sy g 4= — gm s 5
29| =) E4E JNImA 8H29H 5 EE <49] 16,000 26,000 508 | EBEL <53] 18,000 30,000 4.92 e
30| = EE6 S = AT 7H3E = BB <30 5,300 8,300 5.22 — — — — — [ ERXE
31 INVERE = 7H3H £ BT <45 14,000 22,000 2.40 — — — — —|EEEELGL
= 7A38 = — = — = —| BB <30 1,200 1,900 0.68 | HEETE AR &
32|l AE1E MEE  SEosE W = = = = - _®g8 <30 390 610 0.70 | T1B7HL
33| 1A AEJIE Fpl (ZBE1E) A 8H30H [ EE <30 990 1,600 0.92 EE <30 1,400 2,300 0.72 |#EIR RARRRE R X L
34 s 7H3H = EE <30 310 490 0.35 BE <30 860 1,400 0.53 ||HER SR EEE X
35| . _ EsiE 7A3H = EE <30 2,500 3,800 0.66 — — = — = ~ ]
AENI e wEmr 8 23H & [ <30 1,600 2,500 0.71 — — — — — | BEIE TR ERERE
36 AEE 7A3H = — = — = —| BB <30 1,400 2,300 0.73 |EEH 1ELL
" 8H23H E : _g — — — — [ <30 2,400 3,900 0.56
- = - 78108 i WE-EE <30 740 1,200 052 |[WE-EE <30 940 1,400 0.56 2, e
37ER HEm IR 8H23H A& [ <30 1,800 2,900 0.43 3= <30 2,600 4100 0.51 |52 R (R S
= 7H10E = — - — - — 3= <30 460 710 0.28 |= N
38| XA =R 9H4H 5 — — — — —| ®WE <30 1,800 3,000 07 | EEEL
s g4 7A10H & B8 <30 2,400 3,700 0.41 EE <30 850 1,300 0.41
39|/MAJI i W= 9H4H & B8 <30 2,500 4,000 042 | ®WE <30 1,200 1,800 0.42
40 EmiE 7H10H & EE-E <30 200 340 0.16 [EHE-FE <30 590 960 0.20
=\ 9H4H & EE <30 660 1,100 0.19 EE <30 940 1,500 0.19
a1l s 7810E 5 WE-EE <30 650 980 0.26 EE <30 910 1,400 0.31
" 9H4H B 1§E <30 1,000 1,600 0.26 iﬁgm <30 1,200 1,900 0.32
s 7A12H 55 B8 <30 450 710 0.19 | 1EE <30 310 500 0.21
42 L/t /NERET 8A24H 4 BE <30 180 290 014 1BE 30 150 250 0.17
78108 = wE <30 190 290 0.21 wE <30 84 140 0.17
43| Z3I ARKIE 985H & [ <30 330 530 0.18 | Wb -H¢ <30 640 1,100 0.17
44 PR 7H10E & BEE <30 990 1,500 0.30 EE <30 690 1,100 0.32
= 985H & BEE <30 1,000 1,700 0.28 EE <30 810 1,300 0.35
45 ERSUTE 7A11H 5 B8 <30 930 1,400 0.19 | I&EE <30 110 180 0.17
BFREI 9H5H 5 BE <30 270 450 0.21 BB <30 610 960 0.17
46 B AT 7A11H 5 B8 <30 140 220 0.19 | B <30 220 340 0.19
= 9858 & e <30 240 410 0.15 | 1R -hk <30 420 680 0.22
47 [ 7A11H & WE-EE <30 340 520 015 | ¥h+H <30 470 720 0.18
EE| 9H5H & WE-EE <30 700 1,200 0.15 | IEE - <30 99 170 0.11
48 PRy~ Wb 7R11H [ E <30 290 440 0.14 [EHE -1 H <30 370 590 0.24
= 9H6H HE BEE <30 290 430 013 | EH - <30 840 1,300 0.30
= his 7H9H 5 WE-ELE <30 110 170 0.13 — — — — —|= N
49 a&)1] HPRE 9H3H B BE - <30 1,500 2,400 0.29 - - — — — | ELL
50 1148 78118 & [ <30 99 150 0.13 [#+E-wE <30 200 310 0.13
= 9H3H g WE <30 15 22 0.08 EE <30 260 420 0.11
51|pmEs )| INEEHE 7H9E & BEE <30 680 1,100 0.14 [EE-f+E <30 760 1,200 0.22
; " 98 3H ) [ <30 480 780 024 | BEL <30 2,000 3,300 0.19
52 INEAE 7H13H 2 wEg <30 100 150 0.16 | EE <30 300 510 0.15
)| e 9H6H & EE- <30 920 1,400 022 | EE-& <30 440 720 0.17
53 EEiE 7H13H = BB <30 140 200 0.14 | 1EE <30 370 570 0.14
" 9H6H s R <30 500 810 0.11 B <30 480 720 0.14

ERREL. B 7AAATAHALBRRAEHE DY — XA A—FTCS-171FETCS-172Z2 AV TAIELT=,
REH ST, FAIEAEASEIC NS EDth A E ERMSTIRICEEH,




oMl (EEREY)

KEE-SUVTER—K

&
R _ . —fEE REEMERE B/

No. ki 5 marsy | BB XE T e o T ahE [BREEE|  SS BE (BhEoR| BEEESOL %
m cm mS/m mg/L E 1-131 Cs—134 Cs—-137
54 PAE FasERAT 7H128 [55] 0.3 0.0 51 1 4 1 <1 < <1
4 e 78128 5l 05 0.0 94 1 8 2 <1 <1 <1
55 RIE R HET K15 B3 8H6H = 04 0.0 >100 14 2 1 < <1 <
! 8H30H 2 0.6 0.0 >100 14 1 1 <1 <1 <1
| 56] HEAI RAT EC PR 1| & SR AT 78128 55 05 0.0 60 3 3 1 < A4 <A
| 57| Il s = By 78178 & 05 0.0 >100 12 1 1 <A < <A
58 JeZE) PHEE SERF 7H18H ) 0.4 0.0 >100 12 3 1 <1 < <1
|59 Sl EEES EIE 78178 & 0.3 0.0 99 13 3 2 < <1 <
|_60] Eal] E e 7H17H [ 05 0.0 >100 13 5 3 < <1 <
78178 & 0.3 0.0 32.5 15 12 4 <1 <1 <1
61 /B4 ENIF 8H7H & 0.3 0.0 96 17 1 1 <1 < <1
L BT EC BRI 8H30H & 0.2 0.0 >100 20 1 1 4l <1 <
62 THAE 7H18H £ 0.2 0.0 >100 15 3 2 <A < <A
e = 8H30H & 0.1 0.0 >100 19 < 2 <1 <1 <1
| 63] AENHABIK R | 200 [ ZH18H £ 05 0.0 60 13 4 2 < < <
TR | - L = 7H18H| & 05 0.0 60 14 5 3 <1 <1 <1
64 FATEC BRI & SR AT 8H7H & 0.2 0.0 >100 15 2 1 A < A
L 8H30H & 0.4 0.0 43 21 9 2 <1 <1 <1
65| M R e mum | ZABE[ = 0.4 0.0 59 15 5 2 4 < 4
66| & [=AII BSHEIE 7198 [ 0.4 0.0 100 25 3 1 < <1 <
%?ﬁ FosER 1| E’D\E;HE I HAH 7H18H % 0.6 0.0 92 14 2 1 A < A
| 68] IR )1 & R Al 7198 5 0.6 0.0 90 15 2 1 <1 <1 <
| 69] 7k B &R R d0 7H19H [ 0.3 0.0 >100 24 1 1 <1 <1 <1
70| & B/ 7A198 & 15 0.0 >100 21 5 2 < < <
&I 7H20H ) 0.6 0.0 60 24 2 2 A < A
7 FAIEC PR 1 & SR AT L 8H7H & 0.3 0.0 76 25 4 2 <4 <1 <A
L 8H29H & 0.6 0.0 87 26 3 1 A < A
78208 £ 0.6 0.0 65 27 5 3 <1 <1 <1
72 FATECBR I FIAENS 8H7H & 0.2 0.0 80 23 5 2 A < A
| 8H27H & 0.1 0.0 86 26 4 2 <1 <1 <1
| 73] BENEFRE 7H18H £ 0.2 0.0 54 8 2 1 <1 <1 <1
| 74] LETHE 7R18E| £ 12 0.0 56 10 7 2 <1 <1 <1
=B AET 7H18H £ 0.2 0.0 85 16 3 2 A < 4l
75 FATEC PR 1| & SR AT 8H7H & 0.2 0.0 76 18 6 3 <A < <A
8H29H HE 0.3 0.0 84 22 2 1 A < A
7898 5 15 0.0 34 12 8 3 <1 < <A
76 BT ECRR I =HE 8H8H = 0.6 0.0 61 19 4 2 A <4 A
| 8H29H B 0.3 0.0 51 24 3 2 < < <
| 77 axJil OXJI#E —Awm | _7H9H =) 5.0 0.0 80 10 9 2 A <4 A
7R9H i 0.8 0.0 43 13 20 4 <1 <1 <1
78 B INER)IIAE 8H8H = 0.3 0.0 >100 15 1 1 < < <
8H29H & 0.5 0.0 89 16 7 2 <1 < <1




oMl (EEREY)

KEE-SUVTER—K

ERERHE .ﬁ —#ER REHEMERE Ba/L
mmE| x| FAR L — : fhx
No. Kigi£ = TETAT m BKEO BHRE [ERzEE SS BE  |meacvx] BREEEIOL
m cm mS/m mg/L E 1-131 Cs—134 Cs—-137
| 79| KIE I TEERNE 7H10H & 0.4 0.0 89 4 4 2 < <1 <
| 80| Z )il EELE 78108 B 0.1 0.0 34 18 15 4 < < <
7H10H & 05 0.0 42 13 6 3 <A <4 <A
81 FATEC BRI EXB 8H8H i; 0.2 0.0 31 19 4 2 <A < A4
8H28H [ 0.2 0.0 44 21 3 1 < A4 <A
| 82] Al AF)IE TSI 78108 E 0.1 0.0 77 14 3 1 <A < <A
. = 7H10H [ 0.2 0.0 94 17 4 1 <A < <A
ﬁ sl B/AE 8H29H & 0.3 0.0 >100 25 < 1 < <1 <
| 84 Al Bl 78108 [ 05 0.0 >100 33 < 1 < <A <
N - L mE 78128 ] 0.5 0.0 86 24 10 3 <1 <1 <1
85 sl FATEC BRI & SR AT = 8H8H ) 0.4 0.0 63 35 12 3 <1 < <
L 8H28H 5 0.3 0.0 44 38 8 2 <1 <1 <1
o] j N 78118 & 0.3 0.0 >100 14 A 1 < 4] <
86| g [H2)II IR BR )1 & ST 8H8H ) 0.3 0.0 >100 20 < 0 <A < <A
I 8H28H = 0.3 0.0 >100 22 A 0 < < <A
L 871 ) [ARE N HE 78118 g 05 0.0 >100 15 4 2 A <A A
| 88) +#iE 7858 £ 0.3 0.0 94 6 3 2 <1 <1 <1
% [BLEN . 7858 £ 0.2 0.0 >100 8 4 1 <1 <1 <1
89| * FATECPR I & SR AT 8H9H = 0.3 0.0 >100 7 1 1 <A < <A
L 8H28H ) 0.3 0.0 >100 8 1 1 <1 <1 <
78118 & 2.0 0.0 46 14 10 4 <A < <A
90 BT BRI KIEHE REH 8H9H ) 0.7 0.0 60 18 4 2 <A < <4
L 8H28H & 0.2 0.0 62 22 2 1 A < A
| 91] ) /B JHRET 7A10B] B 0.2 0.0 60.5 10 9 2 <1 <1 <1
| 92] Hhigk )1 g 7H12H £ 0.4 0.0 85 12 6 2 <1 <1 <1
78128 ) 0.2 0.0 >100 17 5 3 < <1 <A
93 INE RIS FRE 8H9H ) 0.2 0.0 >100 26 4 2 A < <A
- FRER 8FA28H & 0.2 0.0 58 32 4 2 <1 <1 <1
78118 B 0.2 0.0 60 15 10 3 A < A
94 LN FATEC PR 1| & SR AT 8H9H & 0.2 0.0 >100 17 1 1 <A < <
8F28H £ 0.2 0.0 83 20 4 1 A A 1
95 =] A LS BT 7H23H & 0.3 0.0 100 1 <1 1 <1 <1 <1
— - e o 05 T—00T 100 1 G i G G G
I\ FE| 4 = . .
ﬂg REEN HARE R 8H20H E 0.2 0.0 >100 1 1 1 A < A
97 = EE - 78238 5 0.4 0.0 100 1 3 1 < <1 <1
8H20H B 05 0.0 >100 1 1 1 A < A
FREMAE, BANIELEASEIC, AIIC LD AE ERAS T RICEE.




Ol EERHEY)
"EREE-AUV/RE—K

R R - —#ER A MERE Bo/ke(357E)

gmE| x| FAR . ~ %

No. ki & = AT m RiEE EYEES K |[mEtEasR]  BEEESOL
cm % 1-131 Cs—134 Cs—137

54 BEPN ] FaSRAT 7H12H [l 0.3 3 90 [ <30 14 30
- 7H12H 55 0.5 2 83 [ <30 74 110
55 BT HET K4S B 8H6H ) 0.4 2 94 -1 <30 19 37
L ! 8 H30H £ 0.6 4 92 fil <30 40 67
|_56] #Z/|N FATECBR 1 & SR A TH12E 5l 0.5 2 71 fi) <30 400 650
| 57| )l B HERT 7H17H iE 0.5 2 84 i <30 110 180
| 58| deZE]I PEEE EHRF 7H18E = 0.4 3 86 i) <30 28 37
| 59] SHI TS I8 7A17H [ 0.3 5 74| #-iE <30 230 380
| 60] )il i 78178 iE 0.5 2 91 i <30 19 31
" H 7A17H B 0.3 2 90 f <30 30 54
61 NnN/B+% E)IH 8A7H B 0.3 2 94 f <30 21 32
FATE AR I 8H30H i 0.2 4 90 B <30 29 44
E iiin g e s o e et
L = 5 . ) - 3E <30 130 200
63 BB N FKBEERKIE | e 7H18H ) 0.5 2 95 | B-p& <30 30 47
] TR 1| BRI 7A18H ) 0.5 3 62| - <30 1,400 2,200
64 = BT LB )1 & SRR SR7H| # 0.2 10 93 [ {30 32 61
L 8 F30H B 0.4 4 85 | - <30 400 650
65| M [ERE Eiiti mum | 2088 = 0.4 2 75 W <30 570 900
66| B [BEN SHRINE 7H198| B 04 3 91 1) 430 58 82
67| I® — #EI4E EESi 7R 18E = 0.6 1 94| -1 <30 19 33
e8] Nl [ TR BE )& Fam 7H19H & 0.6 3 93 b <30 85 130
| 69| sk 51511 & Fi S Bl 7H19E 0.3 1 88 fil <30 64 100
| 70| &= =/ 7H19H 15 3 93 i <30 100 140
&I 78208 0.6 2 90 1) <30 240 370
71 FAIEC IR ) 1| & FRAT LT 8H7H 0.3 10 89 E')-%E <30 110 180
8H29H 0.6 2 95 | - <30 69 120
7H20E 0.6 3 84 |73 <30 550 860
72 FAT AR 1| BT A EAE 8H7H 0.2 5 93| - <30 99 170
L 8H27H 0.1 5 83 | VILK-& <30 1,300 2,100
| 73] R EFRE 7H18H 0.2 3 89 fil <30 29 45
| 74] =1 LETHE 7R18H 12 1 82 D <30 180 270
EEN - 7H18HE 0.2 1 94 fi <30 33 56
75 PRI ECPR )1 & SR AT AED 8H7H 5 0.2 6 94 i <30 45 66
8H29H 5 0.3 2 87 | - <30 170 300
7H9H 5 15 10 79 [ <30 510 770
76 FAT AR 1| EHE 8H8H 2 0.6 10 80 [ <30 270 450
L 8H29H B 0.3 10 76 | - <30 490 770
| 77| axl OXIIE ZA#W [ 7H9H = 0.5 10 87 fil <30 610 960
71A9H B 0.8 10 86 fi <30 230 350
78 B INENIE 8H8H = 0.3 5 92 il <30 94 140
8H29H i 0.5 10 88 ) <30 210 320




Ol EERHEY)
"EREE-AUV/RE—K

R R - —#ER RS ERE Ba/ke(82E)
gmE| x| FAR . ~ %
No. K% A TR o m BRE | akE TR (e ®R|  REEEY L R
cm % 1-131 Cs—134 Cs—137
| 79] K TRENE 7A10H 0.4 10 83 fi <30 160 250
|_80] ZH ERES 7H10E 0.1 10 94 i) <30 210 340
7A10H 0.5 10 86 7 <30 200 300
81 BT ECBR)II EXIE 8H8H 0.2 3 89 i <30 92 150
L 8 28H 0.2 3 91 R <30 95 160
| 82 Al AFZNE TSI 78108 0.1 10 90 fil <30 230 360
- = 7A10H 0.2 10 85 f <30 28 49
ﬁ il B/ 8H29H 0.3 5 88 f <30 32 47
| 84] Z AllE 7H10H 0.5 10 83 i) <30 53 72
j EEm 7A12H 0.5 10 88 f <30 43 76
85 I FTEC BRI & FRAT = 8H8H 0.4 10 91 i <30 100 180
] 8H28H 0.3 2 88 | Bb-p# <30 87 150
i) _ N 7A11H 0.3 10 91 i) <30 65 110
86| ¢ (4211 R ECBR) I & TR 8H8H 0.3 5 90 i <30 360 560
I 8 28H 0.3 5 83 ) <30 1,500 2,400
L 871 ) LAREN J\IR Bt 7A11E 0.5 10 93| Fb-i <30 200 320
|88 T#6Es 71H5H 0.3 5 86 B <30 240 390
BN _ Y 7H5H 02 3 92.7 > <30 34 58
go| & R & TR 8H9H 0.3 3 93] _# <30 18 32
L 8 28H 0.3 3 90.7 D <30 34 52
7A11H 2.0 10 955 f <30 26 47
90 FAl EC AR KIEFE REH 8H9H 0.7 8 91.2 i <30 62 110
L 8 28H 0.2 2 90| - <30 79 140
| 91] T B/ IES JIE=HET 7H10H 0.2 10 91.6 b <30 210 320
| 92] k)| R AE 78128 0.4 10 92.2 i) <30 340 550
7A12H 0.2 10 94 f <30 320 500
93 NEN| L& TR 8H9H 0.2 2 91.4 7 <30 540 850
L FE™ 8F28H 0.2 1 88.2 f <30 700 1,100
7A11H 0.2 10 935 fil <30 260 390
94 [RENI PRI ECPR )1 & FRAT 8H9H 0.2 15 94.8 ) <30 170 260
8H28H 0.2 9 93 f) <30 250 390
] 7H23H 0.3 2 85 fi <30 74 120
ﬁ z iy AR BAh 8;20 B 0.3 2 89.5 i) <30 57 81
N— 7H23H 0.5 3 943 b <30 14 17
| % fé . HARHE ksl Y- 0.2 3 048] BB <30 17 25
=Tm - 8 F20H 0.5 4 95.1 [ <30 11 13
EREAR. ZAZEroEIc. mcEDHEZ ERh b FRic




Ol (EERHEY)

BARBE=—RI TR K

R A i3 tis

mmE| XE BHEEMEREE Ba/ke(EZ) BEMEMEREE Ba/ke(EL) Bz

No. ki ih GRS MK [Eetacx]  REEES DL THRE MK [meavR]  BFEEESDL THRE
-131 Cs—134 | Cs—137 | p Sv/h 1-131 Cs-134 | Cs—137 | p Sv/h
| 54] PIAE FaEsAT 7H12H M [EE-HtE <30 1,800 2,900 0.49 EE <30 730 1,200 0.59
R 78128 55 EE <30 980 1,600 057 | 8B <30 1,500 2,400 0.58
55 HET K4S B 8H6H =) e <30 1,300 2,200 0.51 BE <30 1,400 2,200 0.58
L ! 8 H30H ) EE <30 2,500 4,000 047 EE <30 820 1,300 0.44
| 56| HiER)I BT E IR )1 & TR Al 7H12H SEEETEG <30 1,500 2,500 0.49 BB <33 3,200 5,100 0.56
| 57] )il 1)I#E AT 78178 B EE <30 290 510 023 EE <30 410 670 0.24
| 58] B PEELE EHRF 7H18H £ |[EE-0E <30 78 120 015 [WE-EE <30 160 230 0.17
| 59| Sl RS _ . 78178 = EE <30 170 270 0.14| EE <30 210 340 0.14
| 60] Eaal] R 7A17H B EE <30 190 290 010 | EE <30 1,000 1,600 0.15
7R17E & wE <30 30 44 019 |FE-1EE <30 480 760 0.20
61 n/B+E EJNNES) 8H7H & BE <30 520 790 0.13 BB <30 600 920 0.22
L T ECBR)II 8 H30H B BB <30 340 540 0.15| EE <30 900 1,400 0.13
62 T 7818H £ | BE-BE <30 290 440 0.30 [E-EE <30 880 1,400 0.29
e T 8 H30H B EE <30 1,000 1,700 025 | EE <30 540 860 0.26
| 63] BENTKERKIBR |z 90717 [ ZH18E = BB <30 700 1,100 0.31 BB <30 780 1,200 0.23
R I| j o “ 7818H £ | BE-BE <30 430 640 026 | EE <30 400 610 0.46
64 T ECBR ) 1| & TRl 8HTH BB BE <30 1,300 2,200 0.48 BB <30 730 1,100 0.36
L 8H30H B R - <30 890 1,400 0.34 EE <30 430 670 0.30
65| M [ZERE #iE 2L 7H18H = #HtHE <30 760 1,200 057 | #t8 <30 2,000 3,200 0.61
66| B [AE AHEIIE 7B 19H 5 BE <30 2,700 4,300 038 | EH <30 680 1,100 0.33
| 67| % JoEAR 1| #a5lE H# T 7H18H £ | BwE <30 600 940 018 | 1EH <30 1,300 2,100 0.24
| e8] Jil [ Bl IR ) 1 & SR AT 78 19H B [EHE-IE <30 1,100 1,900 042 | #tE <30 1,100 1,700 0.46
| 69| 7k BB &5 Sal TA19E B [EE-pE <30 1,100 1,700 081 [EH - 105 <30 1,600 2,600 0.70
| 70| & =/AE 7H19H 5 WE <30 310 480 054 | BB -8 <30 2,900 4,500 0.82
EFNI 7820E = WE <30 2,700 4,200 0.85 WE <30 540 880 0.73
71 IR PRI & FRAT 2L 8H7H B |[EE-HtE <30 590 900 081 [RE-HtHE <30 580 960 0.84
L 8H29H B i <30 670 1,100 0.84 | %X <30 460 730 0.91
78208 ) E <30 680 1,100 044 | ®WHE <30 370 650 0.41
72 FAT AR I P A EAE 8H7H = i) & <30 320 530 042 | BB -BE <30 670 1,100 0.45
L 8H27H i i) & <30 360 590 047 ®WH <30 580 880 0.45
| 73] RENIEHRE 78 18H = 8 <30 210 350 036 | 1ZEHE <30 1,500 2,400 0.43
| 74 —_— LBEATHE 7818H = ia’iéé <30 4,400 6,800 1.11 [ <30 2,000 3,100 0.71
= 7H18H = [ <30 120 210 0.76 — — — — — | -

75 FRTECPR )1 & FRAT AED 8H7H BB [EE-E <30 180 300 0.72 — — — — e
L 8H29H 5 WE <30 140 250 0.70 b B <30 94 160 0.33
N 7H9H & EE <30 1,700 2,900 0.84 & <30 600 990 0.60
76 FAT E AR I = H1E 8H8H = EE <30 1,800 3,000 1.02 & <30 780 1,300 0.64
- 8H29H i e <30 2,600 4,200 077 &EE <30 2,700 4,300 0.76
| 77| =Nl OXIIFE A | 7H9H 2 EE <30 730 1,200 048 | 1&H <30 1,700 2,700 0.38
7H9H i EE <30 3,800 5,900 0.79 EE <30 1,300 2,200 0.87
78 B INENIE 8H8H = EE <30 700 1,100 070 | #EHE <30 1,400 2,300 0.98
8H29H B g <30 1,100 1,900 0.57 B8 <30 1,700 2,700 0.72




Ol (EERHEY)

BARBE=—RI TR K

FRE S = P2
mmE| XE BHEEMEREE Ba/ke(EZ) BAENEEE Ba/ke(E2) Bz
No. ki ih GRS MK [mettEaoR]  BEEEI VL THiRE IR [metav®R]  BEEEI VL THRE
1-131 Cs-134 | Cs-137 | p Sv/h 1-131 Cs-134 | Cs—137 | p Sv/h
[ 79] K TRENE 78 10H 5 4 <30 1,600 2,500 114 EE <30 2,300 3,600 1.13
| 80| Z )l EEE 7810H & EE <30 2,200 3,400 082 EE <30 1,400 2,200 0.77
| 7H108 B e <30 3,200 5,100 0.86 | 1Z® <30 3,300 5,400 0.84
81 T ECBR)II EXE 8H8H ) EE <30 1,900 3,000 0.59 BB <38 7,500 12,000 0.93
L 8 28H = EE <30 5,300 8,500 1.16 | EE <34 7,400 12,000 0.85
| 82 Al AFZNE TR LB 7810H & EE <35 6,200 9,900 1.25 BB <30 3,400 5,300 1.00
83 =)1] B/aiE 78108 5 BwE <30 95 160 0.16 | 1ZH <30 730 1,200 0.21
e ' = 8H29H B3 [ <30 120 180 0.11 WE <30 530 880 0.15
| 84] Al AE 78 10H B EE <30 1,200 1,900 0.51 ig i <43 6,500 10,000 0.75
N _ N mET 7B 12E ] BB <30 4,100 6,800 136 | 1B® <30 2,900 4,500 1.52
85 Al R EC BRI & TR 8H8H = EE <30 5,500 8,700 172 &E® <30 4,200 6,900 1.69
L 8 28H B BwE <30 2,100 3,300 153 | 1E® <31 4,500 7,300 1.69
i) _ N 78118 B EE <40 8,500 13,000 234 | 1EH <30 2,600 4,100 1.36
86| 5t wmil R EC BRI & TR AT 8H8H =) BE <47 12,000 18,000 2.62 BB <30 3,400 5,500 1.50
L = 8 28H ) EE <30 4,800 7,900 148 | 1E® <42] 11,000 17,000 1.88
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2 AR (BER-®Hith) HET 7H24B — — — — — — — BT <30 600 990 0.20 |[TEDF-HKE - EEHL
3 WrEE L (FEZIH) 8H6H 18.2 5 46 2Lk <30 1,900 3,000 [ <30 1,100 1,900 0.73
4 ELZIN 8H7H 474 5 75 i <30 3,400 5,400 EE <30 2,100 3,300 1.24 |[B#iErRRERRE
5 B/ R(EERA-OHM) 7H26H = 0.8 3 61 ~FO <78 23,000 36,000 BB <47 9,100 14,000 419
6 BB LET K ERERA 8H7H E 4.1 5 67 Lk <36 7000 | 11000 | 3EE <4 6,800 | 11,000 354 | 2 2 e o g
7 BRS L(BER-HM) 7H26H & 1.0 3 60 ~FO <32 4,600 7400 FBBEL <34 6,100 9,400 3.63
8 Fix(BER-HM) 7H27E 0.5 3 70 [ <30 1,800 2,900 BB <60 19,000 30,000 3.83
9 ENES LEFKt 8H8H 6.2 5 81 [ <30 4,700 7,700 BB <44 11,000 17,000 2.21
10 &I45 LEKH 8H8H 9.9 5 73| RBE <43 9,900 16,000 BB <30 3,000 4,700 2.18 o e 5
" KBS (R EEbHH) EHEET | 7A25H 0.1 3 91 [ <30 160 260 BB <35 4,700 7,400 124 | BRBFRMEMRHE
' [ el 8H21H 0.2 5 66 e <30 2,900 4,700 BB <30 3,300 5,300 1.44
12 BEvB (EERA-0ih) 8H28H 0.5 3 39 [ BTk <88 18,000 29,000 BB <30 1,700 2,900 1.04 B rRRERRE
13 THR(BEZERA-HM) JI{EET 7H5H 0.3 2 69 B <30 1,600 2,600 BB <30 2,600 4,000 1.24
14 INTAE (BERT-0iM) SRITHT 7H5H 0.5 2 50 [ E-® <89 22,000 34,000 EE <81 29,000 45,000 14.29 | A HIBH X 12
15 SNA(EBZER-HM) BREEHT 7H26H 05 3 73 i <14 27,000 43,000 BB <38 7,400 12,000 2.75
I i MmEET [ 7H25H 05 3 76 Tk <30 840 1,400 Y <30 690 1,100 0.44 | sy s s = gmpo
16 BIRIE25 (RERMT0H) 8H21H 0.4 3 73 B <30 2,100 3700 | &E& <30 970 1,600 044 | EHIETRREREA
N SRITHET 7826H 0.8 3 90 B <40 3,100 5,100 BB <95 47,000 74,000 18.54 |
17 A L 8H28H 1.0 3 90 i) <30 5,100 8500 | FhE .74 <51 22,000 36,000 16.30 |~ BRI
18 LHI(EXRA-OM) 2EN 785H 0.0 2 33 B <66 8,200 13,000 BB <30 3,900 6,100 1.00 [ o mppr st < 1
19 FEABERALOM) EEN 7H26B 0.3 3 52 [ ~FKA <M 6,600 11,000 EE <61 11,000 17,000 3.38 |"”
20 BERE2(RERLOM) [RITE TH4H 0.4 2 88 | Fb-i# <30 4,400 7,300 | EH <44] 11,000 19,000 357 lusge i 4
21 XA (BERT-HM) RITHT 784E 0.2 2 46 B <110 35,000 61,000 EE <58 18,000 32,000 593 |©
22 TEJIFEEMT L Him 8H21H 2.0 3 54 i <32 2,900 4,700 WE <30 1,600 2,500 0.47 BB RAERERBRE
23 EPE(BERALOM) N EEHT 7H25H 0.3 2 71 <ILE <66 25,000 40,000 BB <49 11,000 18,000 6.95
94 STA L 78258 3.0 15 40 [ TILk <46 5,800 9,300 [ <30 260 410 0.71
KHEHET 8H29H 19.4 5 66 | JLF <40 6,600 11,000 WE <30 340 550 1.16
25 BEH2(EXA-HM) 7H13H 0.5 10 1] Ik <30 3,700 5,700 e <65| 20,000 31,000 4.02 | g oo b7 45y
26 "/ ZFEERE-OHIM) 7H4E 1.7 3 58 | Lk <76 24,000 38,000 BEE <30 3,800 6,000 6.06 |~
27 A L =T 78258 0.7 3 62 [ <50 11,000 17,000 EE <45 12,000 19,000 2.97
! = 8H29H 0.6 2 69 [ Lk <30 2,900 4,700 BB <37 10,000 17,000 3.70
28 EOR(EEREOM) 7H4E 0.2 3 57 Tk <36 5,100 8,100 i§§ <41 7,000 11,000 1.50
s 1 (e s 7548 0.3 2 85 i) <59 26,000 41,000 =g <30 4,500 7,100 2.01
29 EREE(RRAOH) REm 9H4H 0.1 5 79 i) <30 3,600 5,900 EE <30 4,200 6,700 1.95 | o e g e o v 1y
0| u [ TEmEEREo") 7H4E 0.8 2 80 [ Tk <32 7,100 11,000 BEE <30 1,400 2,200 0.97 R REERETR
) 7 el 98 4H 0.5 1 32 e <130 29,000 48,000 b B <30 3,100 5,000 0.94
31 CEBAL /NEFHET 8H22H 7.2 5 59 [ DLk <30 980 1,500 b e <30 190 320 0.20
32 AEZ L - 8H23H 34.2 5 43 TILk <31 2,900 4,500 %E <30 1,100 1,700 0.58 i R
- . 7H4E 1.2 2 65 | Tk <30 2,400 3,800 EE <30 500 800 0.71 | BSkiE TR ERR
3 AR (RRROH) 984H 0.9 6 52 e <49 7,300 12,000 BEE <30 3,400 5,400 0.80
- s 78278 44 3 81 [ <30 680 1,100 BWE <30 250 410 0.33
34 Hit (RRFit) 8H27H 0.5 3 66 [JE-EBEL <30 190 310 WE <30 500 790 0.33
35 INEA LEPK (SF2FEH) - 8H9H 54.4 5 43| )Lk <30 880 1,400 i <30 530 850 0.19
I A L 7827E 0.1 3 75 [ <30 18 30 »nE <30 450 700 0.34
36 HTFRT (RRAfOH) 8H27H 0.2 5 46 | B-BEL <30 1,100 1,700 | - <30 500 830 0.27
37 S5 LBPKh (F- A LIESHD 8H9H 20.9 5 54 | Tk <30 300 500 B8 <30 550 890 0.25
38 RS LETKGH 8H10H 348 5 50 [ Lk <30 360 570 | EE-#E <30 2,500 3,900 0.35
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No Hh 5 BT RER | BEXR gk  [BEEIVE] BEEEIOL MR [BEmEEOR] BEERSOL | TRV
) cm % 1-131 Cs-134 | Cs-137 -131 Cs—134 | cs-137 | M

39 LIS LERK Bem 7H24B 67.7 10 56 | TILk <30 980 1,600 EE <30 230 360 0.21
40 FHAEZRLOM) EX il 7H5H = 0.5 5 80 [ -5 <30 400 650 EE <30 3,300 5,300 0.89
T s = 78248 2 0.7 1 90 [ <30 810 1,300 | BEZL <30 1,500 2,400 1.34
4 At (RRFH) A 8H20H B 1.6 3 92 [ <30 260 420 BE <30 1,400 2,200 1.19
42 i =&F5 L =& 7H238 i 25.3 5 48| Lk <30 1,400 2,300 B <30 660 1,000 0.23
- 8H22H B 243 5 51 <Lk <30 1,700 2,700 EE <30 300 460 0.28
= e s 78250 = 1.0 — — — — — - ®8 <30 1,600 2,600 0.65
43 E/R(RRALOHH®) ALl 8H21H B 0.7 3 80 [ <30 550 900 B <30 2,700 4,400 0.57
4| o [HEH XEH 8ATH B 17.8 10 41 <Lk <30 750 1,200 ég <30 460 740 0.26
— A3 . 78250 = 0.5 2 75 B <30 54 85 <30 150 230 0.21
4 B (READH) BENE eoal & 1.0 3 84 B <30 50 83| ®WH {30 580 950 0.19
46 FHIRZ LEFKM A1 ET 8H10H = 13.1 10 48 < ILE <30 1,000 1,700 BB <30 470 750 0.20
| ( s 78250 2 0.5 3 74 e <30 24 39 B <30 2,000 3,100 0.26
47 Y BRI (RERAEOH) KIRET 8H21H & 0.8 2 76 B <30 54 90 EE <30 350 600 0.17
i 3 5 78258 = 0.2 2 88 D <30 270 450 BB <30 2,600 4,200 0.77
48 RINGRR0H) BiFh 8H21H B 0.5 3 85 ) <30 310 510 EE <30 1,300 2,100 0.60
49 HIIF L FaERL 8H9H = 298 10 43 <Lk <30 1,900 3,200 EE <30 2,500 3,900 0.50
50 i B[ 8H8H kg 1.4 5 30 2Lk <30 210 370 | EE -8 <30 900 1,500 0.49
51 EEEFN EZAH 8H9H B 37.4 10 54 [ ~FKQ <30 870 1,400 EE <30 120 200 0.16
7 (g RS P 7H25H = 15 1 23| BELX <30 290 430 |BE-#-BE <30 12 22 0.08
%2 AiB (RRAfDH) et 8H22H B 1.0 3 50 |[VLhBEL <30 190 320 | EE-iE <30 31 53 0.07
53 FILA LETK REFFEWH] 8HIH = 358 15 46 [ TILE <30 70 150 | EE & <30 300 490 0.15
54| = [ZRHM & |LIET 8H2H B 100.0 5 41 < ILE <30 50 110 [ <30 330 550 0.14
pm TR o 7H26H B 0.9 3 61 i <30 120 190 EE <30 79 110 0.08
% A (’?%ﬁt&”m) el P11 03 3 82 | #h- )Lk <30 500 830 [#+ 51 -HRE <30 120 220 0.10
56 KINF LETKth REFFEWH| 8H3H & 6.5 5 53 Tk <30 78 140 EE <30 160 260 0.09
57 " HFZErKHM 8H2H k& 65.2 10 50 2Lk <30 79 150 BEE <30 22 46 0.08
b= P s REH 7H25H = 0.9 5 91 B <30 <10 10| -EE <30 50 82 0.12
%8 *E#(’Fiﬁﬁt&)’m) 8H21H B 1.1 3 93 B <30 <10 0| EE <30 82 150 0.11
59 HES LB (FH8253) EaEE 8H8H = 10.4 5 37| Ik <30 77 130 EE <30 31 49 0.06
60 B3 R ETKH HEH 8H2H B 14.7 10 62 | LR <30 31 66| BEL <30 240 390 0.06
61 E3A ekixst | 8H28H BB 7.6 12 18| A~FO <30 120 190 BEL <30 69 130 0.07
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FEh S - 2K —hRIEE WEMEMERE Ba/L
No K& RmA | K& m BKR | 8HE | &% SS %E* BEEIVER]  BEEEYIL wE
) m m %o mg/L E3 -131 Cs—134 Cs—137
=[E = 05 27 4 1 <A <4 <A
y S g vk ] 7R24H = 140 13.0 45 30 11 5 <A <4 <A
1 ﬁﬂliﬂiﬁﬁi ﬁ'\]EﬂLﬁ:ﬁiéﬁ?ﬁ’ﬂZOOOmﬁﬁ
=[E 85 28H = 120 05 8.0 29 4 2 <A <4 A4
TE = : 11.0 : 30 3 2 <1 < <1
=[E 78250 = 19 05 19 28 2 1 A4 <4 A4
2(IEBE AEEREBRISHRMTE [ TE = ) 0.9 ) 28 1 2 A <4 A
=[E 8H31H = 1.2 0.5 1.2 27 6 3 <A <4 A
=[E = 05 28 2 1 A < A
78268 i 19.0 8.0
3| EEL HB I H2000mttiE LD 180 30 2 ! <t <t <t
=[E 8308 B 18.0 05 9.0 29 4 3 A < <A
B : 17.0 : 30 3 3 <1 <1 <1
fE 1A278| E0bE 105 gg 50 % § ; 2 2} 2
4|RETHH GBS HTE)IRH91000miTHE i -
EJE] 8H29H = 65 0.5 40 30 4 2 < < <
B = : 55 : 30 2 2 <1 <1 <1
=[E — 05 28 2 2 A <4 A
5|3 B 1158 O 35 #41000m 155 TE 7ATH i 101 9.1 55 31 2 3 <1 <1 <1
) o =28 | sgi7p| = 100 0.5 75 29 3 5 < < <
TE " : 9.0 ) 30 4 2 A ] A
=[E 05 27 2 2 A < A
7878 [55) 10.4 2.5
6| A A 1158 0 #41000m s 55 TE 9.4 30 <1 3 <1 <1 <1
=[E 8H 178 B 9.0 05 70 30 2 2 A < A
B : 8.0 : 30 12 5 <1 <1 <1
2 me| m | ml— op—mpb—a—g————aF—
T{WhEmth e B34 491500m TR = -
=[E 8A17H i 16.0 0.5 10,0 30 3 2 A A4 A
TE " : 15.0 : 31 6 3 A ] A
=[E = 05 21 2 3 A 4] A
- o - FE 7ASH| W 195 14.5 25 30 2 4 A 3 A
8|/NEEE TR 20 IL#9400m i iE
RE 8A18H| BOLE 147 0.5 40 27 3 2 < < <
TB = R : 13.7 : 30 6 3 <1 <1 <1
=[E = 05 26 2 3 A < A4
7A8H i3 17.2 5.0
o|BAN R HBH I HI000mHE L 162 29 < 3 < < <
=[E 8A18H e 168 05 70 28 4 5 A < A4
B " ) 15.8 : 30 4 2 <1 <1 <1
Ol EEF—4) /HE—%K
EE
?:Téﬁﬂiﬁ)ﬁ pd — hn 5 8 o 3]
, BiEZR EiEE e |BREHEIYE FEES DL
No. K cm % R 1-131 Cs-134 | Cs-137
: NN . 78248 5 14.0 5 77 B <30 120 200
; SIS : = =
1(AEM S S9AMIRA A HH92000meTiA 8H28H 20 3 m 5 <30 n 38
NI s = s 78258 £ 1.9 10 80 B <30 110 190
2| B AEERER ISR RAHE 8H31E % 5 : 0 5 <30 64 100
E3 Tl
3|4aMik s BB 92000m i IAsE & 198 S 2L B <30 i 0
. i T RIS 10.5 5 84 i <30 110 180
4|RETHIHh IS HTE ) HE91000m T i 85295 = o5 5 o5 5 <30 M 70
B [ 43 7878 5 10.1 5 84 B <30 230 340
5|5 IR B Fh91000m i i 8H17H & 10.0 5 82 il <30 180 290
o 0 e 13 7878 55 10.4 5 87 B <30 56 97
6| KA O F£91000m 4t SH17E = 90 3 o5 7 <30 % 120
N e T 7A7E 5 17.3 5 86 B <30 67 89
T|\LNhEWHEEE EH)IFH91500mitE SH7H = 50 : o 5 <0 =9 00
e . . 71H8HE 5 15.5 10 69 | ~FO <30 230 360
Sk 3 - s
8|/NEIREE FRTRIZEE 20 4L #9400m {3k sH1sA] EOEE 147 10 T ~Fa <30 T30 300
e 3/ i s ha s 71H8HE 5 17.2 5 78 [ <30 110 170
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